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A = 24® - 4ab = 2a(a — 2b)
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2.

(x+y)(x +y+2) - 3& QIR 5197

O (x+y+1)(x+y-3) @ (x+y-1(x+y-3)
@(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-D(x+y-2)

~&B

x+y=Azel EOH,

AA+2)-3=A2+24-3
=(A-1)(A+3)
=(x+y-1)(x+y—+3)




3. ax+2x+b = (3x+c)? D, A5 a, b, ¢ O] ke A= FoHH?

@ a=9,b=16, c=—4 @ a=9,b=8, c=4
®a=9,b=16, c=2 @a:9,b=16,C=4

® a=3,b=-8,c=4

~&B

(3x 4+ ¢)? = 9x% + 6cx + 2

a=9
6c=24, c=14
b=c% b=16

a=9 b=16, c=4




4.  the deEs oA o8 FAS B 2W? (Hha>0,6>0)

WAyl dy -1 = - (D2 -y +1)=x - (2y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@)a? - 2ab + b* = (a - b)?
@)a?-b? = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

~&B ~

X% —4y? +4y-1

=x>-(H?-4y+1)

=x2-(2y-1)%2 .- [a®>-2ab+b* = (a—-b)?]
=(x+2y-1)(x-2y+1) - [@®*-b*=(a+b)(a-b) ]




5.

0<x<7dm, Va2 = T6x+ 64— Va” + 10x + 25 & 13| 5147

@—2x—|—3 @ 2x+1
@ 3x-1 ® -3x+1

® -2x-5

B

Va2 = 16x + 64 — Vx2 + 10x + 25
= /(x-8)2- \/(x+5)?

= |x—8 —|x+ 5|
=—x+8-x-5=-2x+3
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D x2-16
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& Aol 4[] gell Bolg 5 4-0] A5 Tateiat,

Br+4)( k-5 =6x2-[ Jx-20
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>
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oHd =

(3x+4)(2x—5) = 6x% = Tx - 20
ST7-2=5




8.  (x+1)*-5(x+1)+6 = d5Eelfshd?

@) (x-1)(x-2) @ (x+1)(x+2)
@ (x-1)(x+2) @ (x+1)(x-2)
® -(x-1)(x+2)

~&B

x+1=12 *|2stH

?—5t+6 )( 3)
-2)(x+1-3)
x= 1)( 2)

><

(t-
(x+
(




x% —dxy + 4y* + 2x — 4y — 15 & Q15EolistH?

@ (x=2y+3)(x—2y-5) @ (x+2y+3)(x+2y-5)
® (x-2y-3)(x+2y+5) @ (x+2y+3)(x+2y+5)

@ (x-27-3)(x-2+5)

~&B

(x* —dxy +4y*) + 2x -4y - 15
=(x-2)2+2(x-2y)-15
=A2424-15=(A-3)(A+5)
=(x-2y-3)(x—2y+5)




10. o5 @A a® - b® - + 2a + 2bc + 1 & }15-EHSHA?

@ (a+b-c-1)(a-b-c+1)
@ (a-b+c+1l)(a-b-c+1)
® (a+b+c+1)(a—b

@) a+b-ct)a-b+ct1)

® (a+b-c-1)(a-b+c-1)

-c+1)

B

a?—b?—c?+2a+2bc+1
=a?+2a+1- (b? - 2bc + ¢?)
—(a+ 12— (b—c)?
=(a+1+b-c)la+1-b+c)
=(a+b-c+1)(a-b+c+1)
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11. = = o — o] F2?
T o2 T VBre R xy I
@-svs @ -4v3 ® 2v3
@ 1+2V3 ® 6V3

~&B

xzm
(V3 +2)
(V3-2)(V3+2)
-(V3+2)

- 3-4
=V3+2
o
YT B2
-(V3-2)
(V3+2)(V3-2)
_ —(V3-2)
T 3-4
=3-2
T x+y=2V3,x-y=4,xy=-1°]E2
2oy 4y -y 2V8x4 s
xy xy -1




P 2he 40] 415 Fatolet (% D> 0)

1 1 1 2
& 2+ grra=(ge+s)

© 9y% + Cy + 25 = (Dy - 5)?

=
H =

[ 2
> ™g: 33

A S dAlEA o2 el E Bt AB,C.D F
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© 9y” +Cy+25 — (Dy-5)2oln&
whebAd 7]—11-,5:1,‘—t 3, 71 e z,\_w_ ~30
JREE 3-(-30) = 33 Ol




13.

Aozt 52em 9 B2 AFs| 7 AN et e Polsh

St bem 1 AAAY = HE WHEL o] W, = A
&l 109 cm? A o, Holo] A-E F5HAH? (Ha>b>0)
@ 7cm? @ 13cm? ® 25cm?

@ 49 cm? ®)91 cm?

B

4a+4b="52°B2 g+ b=13

a’+b? =109

(a+ b)? - 2ab = a* + b*

109 = 169 — 2ab

s.ab =30

(a-b)? = (a+b)? —4ab = 169 — 120 = 49
a-b>0,a-b="7
.a’>-b*=(a+b)(a-b)=13x7=091
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@ 2(3x+2) + (2x—1) (3x +2)
© 2x(2x+ 1) = 3(1 + 2x)

© (x+2)(x-1)-2(x+2)

® x*—4x+4

@ 2x>2+7x+6

iy

o

0
i

0
o

VVVYYVYVY
i
® ® © 0

0
o

~&B

2)=03Bx+2)(2x+1)
(2x+1)(2x-3)
=(x

@D23x+2)+(2x-1)(3x+2) =
+2)(x-3)

O 2x(2x+ 1) - 3(1 + 2x)
®© (x+2)(x=-1)-2(x+2)
@2 -dx+4=(x-2)?°
@ 2x% + 7x+6 = (2x+ 3) (x + 2)
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fllo

L

rlm

A2

flo

@ ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)(2+a)

@ -y +2x+2y=(x-y)(x-y+2)
@x3+x2+x—|—1:(x2+1)(x+1)
@xy-1-20-1) = -2 -1




16. THHA] 4xt - 52 4 1.2 ] A} ] AxtAl0] Bog A% Hafg. y
o) QapA10] g2

O 2x+1 @ 2x-1 (@)m
@ 6x+1 ® 4x-2

(4x>=1)(x*-1)=2x+ )(2x - 1)(x+ 1)(x - 1)
(A ) =2x+1+2x—14+x4+1+x-1
= 6x




17. 5 a, b, col Ut A=a+b+ab, B=b+c+bc,C=c+a+ca
0|11, A+B+C=33,A-B+C=-1,A+B-C=11¥9 9, a+b+c
o e Ffeler.

A+B+C=33 Q)

A-B+C=-1 - ©

A+B-C=11 ©
Q-0 oA 2B =34

Q@ -© oA 2C¢ =22

© + © A 24 =10
~A=5B=17,C=119°B2
5=a+b+ab°lA (a+1)(b+1)=6
17T=b+c+bcolA (b+1)(c+1)=18
N=c+a+calA (c+1)(a+1)=12
Al A E“l——]—o]'tq

{a+1)(b+1)(c } =6x18x12
g (a+1)(b+1)(c+1) =36
c+1=6,c=5

a+1=2,a=1
b+1=3,b=2
ca+b+c=8




x(x+3)(x+4)(x-1)+p
=(x*+3x)(x* +3x-4)+p
x? +3x=A = |%totH
A(A—4)+p=A?—4A+p
A2—4A+p=(A-2)
Lp=22=4




19.

O0<x<l1l, —2<y<-14¢0, 4

V)2 + V/(x+y)2 —dxy — /(x—y)? + 4xy

® -xy (@)2x—xy
@ 2y - xy ® x-xy

® 2x+ xy

V(x+y)2—dxy = /x2 = 2xy+y?
= V(x-y)?
\/(x—y)2+4xy: \/)c2—|—2xy—|—y2
- JErypelne
(FA1) = oyl + be =yl = e+
=—Xxy+x-—-y+x+y
= 2x—xy




20. a+b=2,ab=-8 AW, a3b+ a?b + ab? + ab® | L F5toie},

> E.

> =g 176

a’b + a?b + ab?® + ab®
:ab(a2+a+b+b2)

=ab {(a+b)* - 2ab + a + b}
=(-8)x{2-2x(-8) +2}
=(-8)x(4+16+2)
=-176




